Square tens Skills practised:

e Number bonds to 10
» Adding single-digit numbers

Children find pairs of dominoes such that
the total number of spots is 10.

Conjecture: It is possible to find ten pairs of dominoes which have a total of 10 spots.

What to do:
Children work individually or in pairs.
Children working on this investigation will need a full set of dominoes.

1. Ask children to find two dominoes such that the total number of spotsis 10 and arrange
them into a square.
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2 Now chdllenge them to make as many square tens as then canl

They keep each new square they make.

Can they make ten square 10s?

Which dominoes can't be used? Why?

When they pick up a domino, how do they know what domino to look for?
How many square tens can they make which only use doubles? For example:

uses EVERY domino in the setl

CHALLENGE: Ask children to make square 12s. It is possible to make fourteen square 12s, which

Aims:

— To understand that there are many different
solutions to some mathematical questions

- To find solutions using reasoning

- To begin to understand 'how many more to make...?”

Minimum number of
calculations expected

10
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A 1. Find two dominoes where the total number of spotsis 10 and arrange them
intfo a square.
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= 2. Make as many square tens as you canl
Keep each new square you make.
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Can you make ten square 10s?
A Which dominoes can't be used? Why?
x When you pick up one domino, how do you know what domino to look for next?
P-
How many square tens can you make which only use doubles?
§ For example:
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& Make square 12s. Can you make fourteen square 12s, which use EVERY domino
in the setl
\\
(o)

investig_add-sub_1187

\L +

?

Z X tm3 % + ¢ > M x % < % - m ? x

é )

sWy x

1./‘

sWH

1./‘




